Risolvere in C le seguenti equazioni.

1.

10.

11.

12.
13.

14.

15.

16.

17.
18.
19.
20.

21.

2|z — (1 +44/3)iz =0

22+ 3il2)* =0

2% = 1] = |2 + 27|

|22 = —iz?

z|z| =52 —6

2P+ 2=4—-2
N3 1-i

(Z+Z)3_1_+i

22 —2242=0

22+3iz+1=0

z|z| =22 +i=0

222 =1

2+iz=1

22— (4+i)z+4+2i=0

26423 -3=0
2 =3-3i

(22— 4)(z2+10) = 0
iz — 2> =0

2 —i(z—2)3=0

A —22-2=0

A+ (1—-9)22—i=0

(2 42)" = (z - 1)

(1 -3 5, V3 (3£ 5i) - V3]
| V/I8eHfem, /T8etim, /186 ]

0.5V1+4V3 (2 + i)

0, £33 (-1 +1)]
-1, % +iy,y € R]
[z +iz,z € R]
2,3, —6]

[—2i, —1 — 2i]

0,44 — %]

[1+4]

255
2

12,2+ ]

[iQ,i%i(l +9)]

[z —xi,x € R]

[14+4,1— (24 /3)i]

[+£v/2, /2]

i, £%2(1 4 4)]

—3, =4



